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= Year 11   = Linear & non-linear relations    = Worksheet 1
	1. Determine the gradient and equation (in the form 
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) of the straight line from the following graph.    
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	2. Determine the gradient, equation (in the form 
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	3. Determine the gradient and equation of the straight line from 
the following graph.
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	4. Sketch the graph of 
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	5. Sketch the graph of 
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	6. Find the area of the region bounded by the axes and the line 
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	7. Find the coordinates of the point of intersection of the graphs of 
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	8. Find the area of the region bounded by the graphs of 
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	9. Solve 
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	10. Explain why the graphs of 
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	11. Given 
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	Numerical, algebraic and worded answers.


1.  −1.2, x/2.5 + y/3 = 1


2.  1.25, y = 1.25x − 2.5


     (2, 0), (0, −2.5)


3.  −0.8, y = −0.8x


6.  18/35


7.  (5, 13)


8.  4/3


9.  {(x, y): 2y − 5x + 8 = 0}


10. The two lines have the 


      gradient .: they are parallel
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